11V BAT (FR 4 %0 )RR P S S8 A 7 R R A (107 E2 4R FE 5 5 3 4F)

IaH ETE
1LEBTF
4.5 FEFLED 1 11.11%
aEm ez TAEARIL
q:

11%

IS
1) (EERELEFFHERH¥X.E) 3 37.50%
(2)EAFERFT ( 2HZEEAN ) 1 12.50%
B)ER (BEAUNMIAE -SP 52 25.00%
(4)FEERHE 2 25.00%
R EEE
(A)FEEFHERE

1% (EER
B R
£.35)

37%

25%

B)Ef (BfEAIL )
FAILKRE ~ &~ &
« B, FFERFT (EmsE
L ;'[;‘:/{\ %) =)0



6. B IRiEAR

6. B IR
100%

100.00%

FERES > BEOEBENE

2.5

100%




7. 431 E%%37,00175 £40,0007C
8. A¥E1440,00175 243,000 4 50.00%
9.49¥1 =1%43,0017C £46,0007C 1 12.50%

TEPSEARA

7457 B 437,0017C 440,000
Tt

m 8.4 52£40,001 77 %43,000
Tt

m 9.4 5543,001 77 %46,000

r

I5H EIE

FEETAEHES

1IEN
100%



I5H

EIA

(15) S 1™ 2

(3)&adtm 1 12.50%

(4) Pk ETH 1 12.50%

(5)FT 1T 7% 1 12.50%

WEES 2 25.00%

(8)yaoHm 1 12.50%
m (15) ST
m (3)&dLT
= (4)BRE

m (S)HT TR
m (7)E R
= (@)

1.EED 100.00%

4

RELERYREA

= 1LEEH

100% ‘




JEH EIE
FEFE

=) 7 87.50%

HERE D TR RIVAERERE
e

we

88%

I5H &I
AERE
= 1 12.50%

TFAE » RERERFAEHRESER

FRE
87%



== g
FEERE
M=) 7 87.50%

HIIFHmEE

FEH MR
12%

o P=9
88%

I =| I g= Bt
FEEFTE 1 12.50%
= 7 87.50%

TAEN BT SRFEHTTEE

FENRE
12%

=1
88%



I5H =

1.EZEAH - BB 8 57.14%
2.2 17 B2 &2 B A AR 3 21.43%
ARINEREE 2 14.29%
9. BTN EENIE 1 7.14%

ommmmmsmnn BN LIEAFTRBIRVEE&ER

7%

LESNERWE

14%

2B ERRE

BT AR
22%

Ji=f= Y]
1.8

LESRAE -

8= B7tb
3 37.50%

=]

5 62.50%

BB R TERE BRI B EEEE S

298
63%




I5H 3]

1.1

2 1EFEEH N EAMFER 1 33.33%

EEER

21 B
HAE R
33%

1.1#EE
67%

= 3]

(1).El AR ERPrEE 100.00%

r T

m (1) IR B

F




I5H

(ﬂ%i%g

et B LM R I

(5).FE = =R
100%

AL EE

HEER - PRS- B EBrvE RS

AREEE
100%



1 BBRIERET 5

2LIBEBREEN 4 22.22%
5. REEE R BE 6 33.33%
6.EFTBE 1 5.56%
7.T1F4C2 ~ EERAEEEERE 1 5.56%
8. & MBI FEFERE 1 5.56%

BRELSERIERYN - B4 FENNTRIIREST
mLEERERE S

w2 R ERE S

m 5.fHREARAE S

m 6. HAE ST

m 7. TR « BIEREHEE

HiRE
m 8. E R EFRE T

1.EMME  REEBEEEGEER T —8B) 4 44.44%
2.0ME - BEEAREHER 4 44.44%
3.BRIARMEE 1 11.11%

H AL A PRt

3. HATRELSE

11%

LEBH » R¥
PR (IR
RT—&)
45%

2.E5% > BE
AR AEER
44%




